
 

1.4 – Order of Operations with Rational Numbers 
 

Name:________________       Block_____ 
Have you ever seen a contest where your were required to answer a skill testing question 
like the one below for free Canada Dry products: 

The example from above is:  5 + 4 x 2 ÷ 3  =  
 
What do you think the answer is? 
 
 
There is a hierarchy to math operations, some are supposed to be carried out before 
others. We call this the order of operations or you may know it as BEDMAS. 
 
Here are the rules: 
 
B_______________________ 

• complete operations within _________________ first, if there is more than one 
operation also follow BEDMAS within the brackets 

• treat any operations under the s________ r_______ symbol as if it is inside brackets 
E_______________________ 

• simplify any exponents (we will talk a lot more about exponents in Unit 3) 
• treat the square root symbol as if it was an exponent and simplify now 

D_______________________ 
• divide and/or multiply 

M_______________________ 
• do these operations in the order that they appear from left to right 

A_______________________ 
• add and/or subtract 

S_______________________ 
• write any fractions with a common denominator and do these operations    in the 

order they appear from left to right 



The acronym BEDMAS will help you remember the order. 
 
 
Have another look at your answer for the skill testing question. Do you think you have it 
correct? Why or why not? 
 
 
 
Example #1:  
 

a) -3 - 5 + (2 - 7)   b)  3 x 2 + 16 ÷ 22 
 

 

 

 

 
 
 

c) -2 + 3 [2 - 4(5-3) + 10]   d)
− 4 + 3( 2 + 10)
− 1(6 + 2) 

 

 
 
 
 
 
 
 
 

e) 23 x 3 ÷ 8 - (4) (6−10)
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- 24 ÷ 23  f) �3
4

 + 1
4
    x 5 + 2(-2 x 10) 

 
 
 
 
 
 
 

g) 15 ÷ (-2.5) + √6.25- 32   h) [ 11
2
 + (3

4
- 1

2
) - �1

4
]  x 4  

 
 
 
 
 
 
 
 
 
 

 
Section 1.4 pg 30-31 
Questions #1-5, 7, *9 *10  

 


